148 Pre=ififir @ e HIOY —

148. Match the following —

Ancient divisions of Rajasthan TR .‘_._# H@,’-’F E
(z1) .r":;n.'mluvt'__il.?::har (a) SFTA—TTTEY
{b) Swarnagin (b) B
{c) Kantal .
(d) Arbud o) SO
Modern districts (d) mﬁﬁ ' '
(i) Sirohi amfie forer
(i1) Pratapgarh i . ) (i) R
(iii} Jalore (i1) wamre -
(iv) Sikar ' (iii) WEIT
Code - (iv) W
(A} a-(ii), b-(iii), c-(iv), d-(i) TE —
(B) a-(i). b-(ii). c-(iii), d-(iv) (A) a-(ii), b-(iii), e-(iv), d-(i)
(€) a-(iv). b-(iii), c-(n), d-{i) (B) a-(i), b-(ii), c-(iii), d-(iv)
(D) a-(iii), b-(iv), e-(ii), d-(i) a-(iv), b-(iit), c-(ii), d-(i)
149. Match the following - ik (D) ﬂ-:ll:;;\'l. c-(ii), d-(i)
Handicraft q .
(1) Ajrakh print L
(2) Jajam print {1) JavF = )
(3) Pichwai (2) W firme =
{4) Dabu print (3) freard
Place (4) 519 fu—=
(1) Nathdwara =
{ii) Chintorgarh (i) TIENT
{iii) Aakola (ii) feitere
(iv) Barmer (iii) 3Ty
Code - (iv) sTasw
(A) 1-(iii), 2-(0), 3-(iv), 4-(iD) e~

(A) 1-Gii), 2-G), 3-Giv), 4-Gi)

(B) 1-(ii), 2-(iv). 3-(0). 4-(iiD)
(&) 1-tii. 2-iv), 3-3), 4-giii

(C) 1-{i), 2-(ii). 3-(iii), 4-(1v)

(D) 1-(iv), 2-(ii), 3-0). A4-(iii) (C} |-{_i|. 2-(i), 3-{iii), d-(iv)
I‘{Wl.z'ﬁi}.j-ﬁ},, A-(iii)

ded by - 150 “gureme @ W 7 o

(A) MERTST 7=y faie -

(B) 3117 sparay i

150. “jlas Khas" was foun

(A) Maharaja Banne Singh _

(8) Rana Bhagwant Singh i
(C) Maharana Sajjan Singh o R Hiwmra F%r-g |
(D) Maharaja Ajit Singh WETTAT sl fiig

T ie—— —

=



r

1“" Nﬂu’;’l.kh'.l B“u:‘i near Dungm-.lwl_' was buili h-'_',." =

(A} Kishori Devi (B} premal Devi

{C) Nathavati (0) Ramarasade

145. Which fort amongst the following is put -“-.‘ tha
catepgory of ‘Dhanwan Fort"?
(&) Sonargarh fort (Jaisalmer)
(B) Mehrangarh fort (Jodhpur)
(C) Chittorgarh fort
(D) Gagron fort (Thalawar) .

146. Match the following —
Author
_ {a) Jayanaka
7;‘ | (b) Nayanchandra Suri
,,/ ~ {¢) Chandra Shekhar
(d) Haribhadra Suri
Work |
(1) Hammira Mahakavya
(i} Samaraichchakaha
(iii) Prithviraj Vijay
(iv) Surjan-Charitra
Code -
(A} a-(iii), b-(iv), e-(ii), d-(1)
(B) a-(iii), b-(i), c-(iv), d-(ii)
(©) a0, b, (i), d-(iv)

(B} a-(iv), b-iii), c-(ji), d-(i)

i oy nent?
147. Which of the following is a stNNE instrut

(A) Sarara (8) Bankid

(C) Rawaj (D) Morchang

13.@

14, 1Rq B e e ard) ey Tod o6
(A) et 6 (B) e 24
\-(C{ﬂmmﬁl (D) T

145 SRR 3 % e o e g ) e

¥ e £7

\BY TS (SHereriig
(8) Hgwrra g1t (i)
(©) frdrems 3ol .

(D) T gt (srerare)

146, Preferfa T gifm AR -

(i) AR TETEE
(ii) FRIZ=EE
(i) gedireran fary
(iv) e arA
e -
(A) a-(iii), b-(iv), c-(ii), d-(i)

ABY a-{iii), b-(i), e-{iv), d-(ii}
(C) a=(i), b-(ii). e-iii), d-(1v)
(D} a-(iv). b-(iiid, c-{ii}, d-{i)

147. ﬁpamﬁgﬁﬁﬂﬁﬁmﬁﬂamﬂ?
. @ aifrm

(D) we=E

(A} TR

sgof T




7. When was Rajasthan Agro  Processing
Agribusiness and Agri Exporis Promotion
Policy launched?

(A) 18 December, 2020
(B) 18 December, 2017
(C) 17 December, 2018
(D} 17 December, 2019

118 Which of the following is not a beneficiary crop

through the Mavath?
(A} Wheat (B} Gram
(C) Mustard | (D) Groundnut

119. Which of the following river is not related with

Inland drainage?
(A} Ghaggar (B) Sabi
(C) Sagi

(D) Kakni

120. Which of the following lakes of Rajasthan is not
included in National Lake Conservation
ngmmmm? '
(A) Rajsamand (B) Fateh Sagar

“:_l ""Jnl-.‘.kj {0} Ana Sapar

o ig found in which pan of
ol ._'\ﬂll s
121. Verlisto

R:Lj;j:ilhﬂﬂ?

() Eastem part
g) South ~ gastern part
{ arl
) 5{;1.]11‘! _yyestem P
(C

North = estel® &
(D) NO

W

17, T ‘giﬁ-'f HHERI], ?ff'

fraf o Aift 33 R

(A) 18 fermam, 2020
(B) '13 fegax, 2017
(€} 17 feaw, 2018

0y 17 fe=imm, 2019
118. frafefag 4 & AEe eWT

o et 27
() (B) -
(©) T 40y
19, Fr=fafem 4 @ o9 < =
wafem e #7
(&) ETER (B) -
&wl/mﬁ ' (D) -
120. st i wiRen TRt
o P ¥ 9 9
(A) e (B)
(C) w1 (D)
121, gfdzie Fredl orRm @
B?
() o
BT g} s

() glerod—aftef s
(D) Fem—gliadh T




103. Sirohi, Pali and Julore districts comes under
which agro climatic zone of Rajasthan?
(A) 11-A (B) 111-B
(C} 11-B (D) 1-A
104. Among the following which is the first Wind
Power Project in Rajasthan’
(A} Devgarh Wind Power Project
(B) Bithadi Wind Power Project
(C) Amarsagar Wind Power Project
(D) Phalodi Wind Power Project

105. In which months rainfall occurs through the
western disturbances in Rajasthan?
(A) July and August
(B} December and January .
(C) September and October
(D) April and May

! 106 Which of the following is not correctly

maiched? _

(4) Moosi Maharani ki Chihatri - Alwar

(B) National Desert Park — Jaisalmes
C) Sunchri Kothi - Sikar

(0) Jaganiya Mata Temple — Bhilward

107, yuva Sambal

When  was “Mukhynmuntri
Yojana” started in anm-.tlum?
(A) 1" February, 2020 (B) 10° March, 2020

(€} 1" February, 2019 (D) (" March, 2019
| . .
L etland
1%, Which state has the maximum Ramsar ¥
~ . sites in India? ;
1
(&) Odisha (B) Madhy? prides
& - » h
(€} Utarakhand (D) Uitar prades
13.@

103. RRYE, areh men ey fid, wemer
F Sy wve @ st am i
(A) 11-A (B) 111-B
Aer -8 (D) 1-A

104, Pr=rfafara # 9 wore 3t pam Ug
gftgrenm T @ 87
(A) 2are uas S o
(8) e wg= ol glRaraEn
(C) AP UEe Fal afedra
(D) weitdt waa Fal afteer

105. yroreemA # gfterh faeind @ auf = 7
Bl 27 '
(A) e e anreed
8y e sy s
(C) R st s
(D) arf= affr ng

106. fpe 9 & Trman pafer 18l €7

(A) = WETEl @ el - AR
-rﬂllﬁmwamﬂ—a"mafr?
"—Itﬁﬁ;ﬂ'ﬁﬂaﬂﬁl—ﬁrﬂ
(D) wfrar wwen AR — AeEars

107, s § R q@ e WS
we @

[A) |.:ﬁ'ﬁlﬂ, apz0 (B) 10 s, 2020
ey T wead, 2019 (D) 10w, 2019
108, e o frm e A ERIRYE IRE
wrd £ :
N (B) tremue
(D) TTR U=

(C) FTRTEs

—
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8. 1n which district of Rajasthan the PM WARN] 8. rAwE o ¥ By & e @ 1.ﬁ
'q1

Scheme launched recent!y” 2T T T -
(A) Jodhpur () Frmépgurh (A) v Bimsrer
(C) Jaipur {0} Udaipur (C) W ©) '
i ELI
84. Recently, which on¢ of the following was 84 gre € 4 ) ey L —
awarded the President’s Colour? N :
(R) INS Valsura _ - (A) 33, . TH. aog0
(B) INS Vikramaditya -' (B) 3E. . vH, Rafee
(C) INS Sahayadri ! (©) 3. T, H, HEud
(D) INS Vikrant | ©) . w1 e R
- ﬁs. The presence of the cell wall enables the cells 85. wmifirem fasht @1 Sufefa dei @
of plants, fungi and bacteria to exist without Siraropsl 2 SR B R w2 fi
bursting in which medium? ¥ v <E A e a2
(A) Isotonic ~ (B) Hypertonic (A) aEEEE (B) BRI
(C) Hypotonic - - (D) All of the above (©) ErEdREE (D) T |
B6. The PSLV-C52 successfully launched which 86. flogradl—C52 4 whw g7 Ak
satellite from the ﬁr:sl; launch pad of Satish Srefrper & ved g iz 4 fee 9
Dhawan Space Centre, Sriharikota? AEeagd® oi-g fHae
(A) EOS - 02 ~ (B) EDS-01 AATEOS - 02 . (B)EOS-01
{C)EOS-04 - . (D) EOS-03 (C) EOS - 04 (D) EOS - 03
87. The 5G test bed for C{:m;nnnd 87. il 2 FiE @ forg 56 °F e
. d for Army Training
will be established at. i el )
(A) Military College of Scien® and (R) frfers? m. e R
Telecommunieation. in Bangalore CEICas BEai et A
Ication. Eik
(B) Army College of Tele:m‘:nmmunicaiiun. in (B) amif wiera i mﬂﬁ::ﬁfi
1 Bombay el ol e sifs WEE €
. (c) Armmy  College  of Science and | ELi QL) st
Telecommunication, in Indore | (o) faferet
(D) Military College . of Tflgmmmumcutmn ﬁﬁ'ﬂﬁl‘[ g,
Engineering, in Mhow _ = e

page 15 of 32
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8. Which one of the following (Mineral - 94
I' Prodluction area) is nol correctly matched?
{A) Sopap stone — Rishabdev
{B) Emerald — Kalaguman
Pyrite — Sarwar

(D} Garnet - Rajmahal

@
-

95. Which of following medicinal plamt is not
included in Rajasthan Ghar-Ghar Aushadhi
Yojana?

(A) Musli (B) Gilloy
iC) Kalmegh (D) Aswagandha

2 123119590

L]

96. The ‘Great Arlesian Basin’ is located at -
(A) South Amerieca . (B) Australia

(C) North Amefica (D) Antarctica

97. The *Submarine Canyons' are locate on/in -

123149590

(A) Continental shelf
{B) Deep sea plains E
(€) Ocean deeps

(D) Continental slopes

9. Which slal:men; is not correct?
(A) Dry teak forests are found in Southemn parts
of Rajasthan.

123119590

(B) Sub-tropical evergreen forests are found in

Mount Abu region.
Udaipur, Chitiorgarh and girohi districts.

. d in
(D) Tropical thom Torests are mostly foun

gre found in

123119590

Eastern part of Rajasthan.

Fre=fafea 4 9 g (@fe — o
wafea =8 &7
(A) ¥ 5eoR — mopgdy -

(B) G~
'chi;ﬁ?ﬁf-m

(D) Tt /amET — TS
el 4 91 s sy den o
TR-ER Al aran § wfe a9 7

\{/’Iﬂfﬁ (8) firera

() Frerim (D) areaviem
e anféRer AR R & -

(A) = SR % (B) sifefr
(C) wer srfT (D) awerEfe
o A S safiea B # -
() mErditr T

(B) aprmt AT #EEl d

(€) weramTi T &

(D) swErndm arel o

pa—
i

— — - ret7af82
113 N @ Page




* Which isohyet separates the Sandy Arid Plains
and Semi-arid Transitional Plains of Rajasthan?

(A) 25 em

(B} 75 cm
() 10 em (D) 50 cm
10. Which one of the following is not a salt water
lake?
(A} Rewasa (B) Kavod
(C) Jaisagar (D) Deedwana

1. As per new system of soil classification the
*Alfisols” soil is found in Rajasthan in -
(A} Churu. Jhunjhung and Sikar
(B} Pratapgarh and Sirohi
(C) Jaislmer and Barmer
(D) Jaipur, Alwar and Kota

112. Desert Development Programme was started in

Rajasthan in the year-
(R) 1977-78 (B} 1974.75
(C) 1981-82 (D) 1999

. 14 ﬁmn[ding to Indira Gandhi 1ift Canal ﬁﬂjﬁti.

which statement aré incormect?

(i) This project was previously known as
Rajasthan Canal and later renamed as Indira
Gandhi lift Canal Project in 1982,

(ii) There are 9 1ift canals in Indira Gandhi lifi
Canal Project.

(iii) The Canal was conceived by Sardul Singh.

(iv) The canal does not passes through Haryana,

Code -
B

(A) (i), (iii) and (1v) only
(B) (i), (1i), i) and (iv)
(C) (i) and (ii) only

(DY (i), (ii) and (iii) only

109. g & Y9 @ AEE der

HFAvTETe el @1 Bl THag)
&7
25 ¥, (B) 75 i,
(C) 10 &4, (D) 50 ¥,

10. Prafafaa # 4 o TEE (TR
A T &7 |
«AS e (B) Frdrg
(C) FaHTR (D) Er=amn
Mgy & 70 offewo & agar 0
FprEen §ET o W @ -
(A) &, 331 3R e H
(B) warme iR R
ACY Sraenn 3N areiR A
(D) TR, e s aver

N2 e 4 w6 fwm sEms g
off —

(Ao 1977-78 §  (B) af 1074-

(C) ad 1981-82 % (D) T 1999

M. gfew i er oRgemn # s
T T #7

(i) 39 wftgrern B ugd TwwE T

H AT wmen o afiR 1082 4 swe

Teaay v MR frge e of?

fam A
(i) g meh e o ﬁ@ﬁa
Bl

(iii) R B Fea N WRgE fig A @
(iv) =ex eRamn # T8 o 2

s —

‘ﬂ/ﬁ‘m (i), (i) 3 (jyy
{B) (i), (i), (iii) 3T (iv)
€Y #74 (iy 3w (i

(D} aa (i), (i) afm (iii)-

_-—'—'_._._

123-@

page 20 of 32

——

—_—



—

|

i
|

/

\

Y

8. What is the average age of children in the class?
Statement : I The age of the teacher is as many
years as the number of children,

1. Average age is increased by 1
year if the teacher's age js also

included,

(A) Both statement 1 and 11 are not sufficient o

" OANSWEr

(B) Statement 1 alone is sufficient but I1 alone is

not sufficient to answer

(C) Statement 11 alone i sufficient but 1 alone

not is sufficient to answer

answer

(A) 36
(<) 20

(B) 18
(D) 32

1+[k+]}y=51

(k+ )x+9=8k-1

() 0 B,
© 2 (0) 3

(D) Either statement 1 or 11 alone sufficient to

9. A two digit number gets reversed when 1/5th of
it is added to it. Find the 40% of that number,

3

ACBO is & parallelogram. ZACB = ......coo.

A
C

(B) 135°
(D) 110°

(A) g
€y 120°

L T

o6 e ¥ weEl @ v oy @

e

60. For which value of k, the following s;-.rst!:rﬁ of

linear equations has infinite solutions?

61. [n given figure, O is the centre of the circle and

EﬁlﬁiI,ﬁTHEﬁilﬁarrgiﬁﬁE
AT 9y #

.Il.uﬁﬁmaﬁarrgz

&Y fermm wme. Ay s

a P gy B ot

v({]ﬂﬁ]&ﬁi'l[ﬁ"r-‘-l’fﬂmﬁ

59.

61.

TEl

(B) Tor | ardven wufey & S
1 & o vafe a8

(C) T 11 syt € Afs
3 B o v g 2

(©) a1 & T2 1 W 11 sy s
T

UE T3 W e ol &

W (1,/5) T W g wrer @

T 40% =T FIfe |

()36 sl \Brig i

(€) 20 7Y (D) 32

k & e 7 & fag Poe Y
P @ ora ga femma #7 \
X+(k+1)y=5 ¥
(k+ I+ Oy = 8k - |
{A) 0 (B) 1

) 2 : (D) 3
ey fym 4 ;:Hg?riﬁrﬂ?i:‘é
UF WAR wqiw &1 ZACB = ..

c
(B) 1350
(D} 110°

(A) 90° -
od 120

e

B

am W
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h"
i .‘-PA'

T2 A Scooty is available for ¥ 50,000 cash or

T 10,400 cash down payments followed

by 4

equal annual installments. If the rate of simple

interest is 25% per annum, amount of each year

installment 15 -
(A) ¥ 14,600 ~(B) ¥ 14,400
(C) ¥ 14,800 (D) T 15,000

73. The cause of mirage formation in desert is-

(A} the refractive index of atmosphere increases

with decrease in height

=

(B) Scattering

(C) the refractive index of nlmmphei‘e does not

change with height

(D) the refractive index  of atmosphere

decreases with decrease in height

T2,

73.

ST W W AN W a1t Ry
SU B 1 3R W w9 o 25

(A) 14,600F (B) 144007
(C) 14,8003 (D) 15,000%

wowe | OPTgen @ P @ e

(A) Semg @ R S 1 A
]

(B) waofsy

(C) Fard & |y anpiga ® W
wmATE

uﬂféﬂﬁa‘%ﬁmmﬂgﬁﬂm.m

2

74. Which of the following fuel has maximum 74 fy=fafee & @4 fm a7 @

calorific value (in kIfkg)? aH / FEREE T (ke ¥) SfEwT

(A) Methane (B) Peirol (A) e (B) ﬂflﬂ

(€) LPG (D) Coal (© gadeh, - (O @
75. Which rocks are known as Primary rocks? 5. fo wEEl @ wmfE TgE @

wIran @7

(A} metamorphic rocks . (A) wriafia aeH

(B} sedimentary rocks x (B) argmret weT

(C) igneoiis rocks (€) ey =&

(D) All of the above (D) U il

- =l 76. faefarfia # @ frea aar W

76. Voice of which of the following is likely to have i

: : gy @ EEE &7

minimum frequency

A baby gl - A T (B) gT4

¥ gir .
£ (©) st (0} T
(C) woman (D) baby bOY
[
page 13 of 32
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gz § people were asked aboul the time in 4 week

62, .
they spend in domg socil work in their Swmm a.ﬂ. R W SR A
community. They replied 20. 14, 26, 40 ang 30 i nF;m @ Ty 7 20, 14, 26, M
hours ;{:spnf:c[h'fl}'. Find the mean (or average) rllle O WEE g €| g ol
time in a week devoted by them for social work. A i W A e feam e &
(A} 40 hours (B) 26 hours (A) 40 ool Jarf{, W
(C} 20 hours (D) 14 hours .lﬂ} 20 = (D) 14 wey

63. A work may be completed in 10 days, if X, ¥ 63 off XY afrz el O T
and 7, work together. All three staried to work -

0 3.5 B wew &) A9 3 ow
together. X left after 4 days, then Y and Z e o ww frm 4 2w ae XA
completed the work by taking 10 more days. In A1 9T FE W Y AR Z A 10 3w afe
how many days could X complete the whole st qot fFe ) X e el el W
work alone? _ &= A @ e ar?

(A) 15 days (B) 25 days (#) 15 f2 (8) 25 &=
(C) 35 days (D) 30 days (C) 35 f= (o) 3n 2=

64. The lengths of the diagonal of a rhombus are B4.

T O @ Rl W) g wme
24 em and 18 &m respectively; length of each

it 18 WA F) wEDE W ST T
side of the thombus is - warg € — . .
W 1Bem - (B)25em Wi (@25
{C) 21 cm (D) 15cm () 21 #v. | unf'fﬁ L

8. If(x-1isa fm‘:l.nr.qf xt 4+ axt 4+ 11X +a .

afE (2x - 1), 2x* + ax* + llx +a+3
+ 3, then value of a iz -

s € Wa A E -

g .y ' (&) -5 }Bf'; Ry |
(C) 5 (D) 7 IC) 5 ® ;ﬁ:ﬁ g
. &6. % forg 4% |
5. How much compound interest will l.'rEPﬂLrJ.h_‘_f a :;ﬂ;“:r ;:d-.m ﬁ;; Eolel Cogl
PErson for loan of F 700 at the rale of 45 .';L'I'Il'luu] ﬁ-ﬁa;“- a— Tﬁﬂ el “%Tﬂ?
compound interest for 3 years?  N4AT 87403 (8) 283
(A) 2 87.40 (B) 228 ph ?
40 () 124 (P 84
©T124 - (DTB4 aifarn
A ; 67. TE gHrEr Ul @ s

icyele
A shopkeeper marks 10% more rate on bicy

T T
X 105 wgrE Bl
than purchase vajue, He gives 10% e 1:: o sitea TEE T 0% AES
marked value of bicycle 10 2 .;u.ttmn.er, “1:: ‘ : S aTEfEa T T T
selling the bicycle the chopkeeper Will 7° (&) = BT \erf e
(A) Profit (B) LosS {mﬂiﬁﬂﬁm:‘ (D) T HET A
(€) Nether profit nor (0 Can' = & wf @l w8
loss - Y P i N
q \ —* = b
| N s Y -
:)i‘ Tl_ @ e page 110732 =
X 3.
'I-I'l"

o [N TARTARE !
A\ ik X7 g2 i e t
& EeR e i'a{c‘l/, FoF 7



16. AP D e | =1 F | B g a2

A) WiaTel W 3FE arend € (B) #ren wft wrsm g

(C) W & WY W A B T | (0) 7€ T 5T Rt
17. “We have taken our breakfast.’

S A B D RS Wi § —

(&) Ry e @ foran 2 B T et v foran 2

(C) & Areal & F% MY AL (D) ¥ wredr @ foram en
18. ‘aqomgred afad Tug ﬁﬁﬁﬁwﬁmﬁmﬁﬁﬁﬁ?

(A) e i (B) drafey

(C) aror1a (D) ArwEn.

19.mm$ﬁqﬁmmﬁ%—
(A) WT TS TART FHG A A W 0% @ A feifde e w i s
(B) wwera favmor — Ry &1 ware g §
> (O et v vz Pl T A B 99 ] e AR wE €
Vo S s egen B e vl A st e Rt W, 3, T a1 @
20. f=feriaa & & fva fess 3 wft e wear & yafrad &7

w’/nqafﬁamaaﬁr ' . ~(B) 3z, areef, e

(C) ==, a1, e (D) T, BRI, AT &
21. fadm wreE # gfe § BE 3w e 87 .

(A) ard® — WA , (B) ¥fEw — uailfd®

(C) afagfe — Tggfe Lfﬁra:rﬁ'rﬁ'r_—anﬁ'lﬂﬂ

22.) frg ey # sl W e & wowy o= witaftes o= w8 7
(A) Departmental Negligence — farirg WA, (B) Denial - RECCdl

‘{c{ Deviate — 3ifed - (D) Decree — T
2. 3 @ weg g B A WS el 87 '
(A) sre—arge — g~ TER \Lﬂé'ﬁ‘f" W; E;:;'{
(€) Sro-dg — fAe—zfic (D) afor—
L 24 g i @t frems el @@ # A TER @ ogfE #7
P\ W ERE wHaeE (B) =& mﬂ?ﬁ ¥
Y © Rt R <o s
1 ﬁi‘@ _ Page 4 of 32
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48.

50.

51.

52.

The greates! length of the scale that can measure

exactly 30 cm, 90 cm, 1 m 20 cm and 1 m 35

cm rcllgihs ig =
{A) 15 ¢m
(C) 10 cm

(B) 5 cm
(D} 30 em

Population of a city is 1,00,000. First year it is
increased by 5%, second year decreased by 8%
and in the third year increased by 3%. After
three years, population of the city is -

(A) 98,448 (B) 96,600

(C) 84,000 (D} 99 498

The batting average of a batsman in 40 innings
is 50 runs. His highest score is 172 more than
his lowest score. If his highest and lowest scores

are excluded, then average of remaining 38

innings is 48 runs. Highest score of batsman in
one innings is-
(A) 170 runs (B) 172 runs
(C) 166 runs (D} 174 runs
In an examination, 33% marks are required to
gel pass. A candidate receives 238 marks and
gets failed by 26 marks. Maximum marks of
examination is - :
A) 600 (B) 800
(
' (D) 900
(C) 700 |
. Find
fa pemispheric® bowl is 3T T
Radius © od in the bow
[ume Uf water thﬂ[ C be ﬁ”
Vo
1
1 (B) 9mcm
A cm _
(A) 36T o) 721 o

48. 30 ¥, 90 T, 1 Hrew 20

e 123119580

123149590 123118590

2123119590

b(cf:sm LS
() 187 cm’ /

_______._.-—-—'—""'_'_"—r page 8 of 32

35 M. a3 W9 @

oag & -
(A) 15 #4. H4 3
(C) 10 w7, (D) 30

UH VBT @ AdEEr 1,00,000
™ 5% ) gfe, fada ad 4 8

qora o 3% @ g g2 |

T FATEET B —

(A) 98,448 (B) 96,61
(C) 84,000 Y099 4

UF deaard #5140 TRAE ¥ T
suﬁﬁlﬁmaﬁﬁﬂﬁrﬂ?
WR | 172 W s &) oY
3R =Fam wr gl Ay W
mftai @ e 48 ¥ BT @
FEgas W B —

(A) 170 (B) 172 =
(C) 166 ¥ '\{ﬂl‘lwa.r-
ve gienm f e g9 @ fo
smaras €| Ue anuddi 238 306
3R 26 3wl | gl B w
afereA AT B —

(A) 600 xﬁf{snn
(C) 700 (D) 900
: qwaﬁfﬂﬂmﬁaﬁ"rhﬁﬁma

afgq 910 W WHA qred T
grm?

(A) 357 W1 (B) oyt &

O) 721 &



. 53 115 E) . h(%) =19, then values of a ang h’@ﬂﬁ 5{3] X h{:l:] =19, @a 3R b
are - - ) oo
_ ="

W 22
< =‘||';'|]=3 {E]’ =3.0=
(A) a d 5.']' 2 {'”.‘]ﬂ'—'T'.h:E {H}a=5~h=2
(C)a=5;b=4 B)a=8:b=4 '
| (€ a=5:b=4 D a=8;h=4
58 L.CM. of (q" +30), (4" + 59 + 6) and Lq=+4fl§’) (4 + 39), (97 + 5q+ 6) 3 (q® + 4q +
+ 3) is equal to - ' : '
: Ty) TR HHIYGA® R & —
i::'qiwiﬂ-:l"‘il | o2 (R) q (q+3) (q+2) [,LEHE)
10+ @+2Q+D e = BQ@N QD)
€l qiq+3) - g:f’l © q(g+3)
D) (g-3) A B)-(q-3)
55 In the given figure, X = ............ B RemREH x=...... \LD"J'
: A N
- .
=)
L)
(9
e
6
)
."_. a
(A) ¥ | y -
4
HRL o3
: : =Y h 3 Y
" Inthe given figure, CE is the bisector of iﬁﬂ% 56. fau 70 fm W CE, ZACD T HHigwn
€ ZA =55 ang AB = BC, then ZACE =— AR ZA=55" ofit AB=BC.T ZACE
................... = ﬁ
Ii.ﬂ# 8 RL i ; —
et ‘
M L cj
o)
. L)
D 2 :
C — :
() 6250 Phoad < 8] g2.5° :E: j:
(C) 450 ' . e (C) 45°
. D) 35 ~ 5. Emaﬁma@ﬂ&ﬁm_
- Averageage ofp persons is nereased by 2 yedr a0 T afft 24 g T 2 i
when two perge, 1 90 years and 24 years ¢ 3 e ) o & | A T
are repla ; erage age of
PRaced by (e women. AVERIE £ st o ® -
these tWo wom, - Bl (A} 20 ot (B) 30 =4
(A) 20 years (B) 30 years ¢ 25 D) 35 o
(C) 25 yearg (D) 35 years I

B e
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Read the

- Passage carefully and answer
The choi

choice we make on a daily basis —
staying out of any dangerous situation

the questions given below —

wearing a seatbelr, lifting heavy objects correctly

: = Cin it ens s tent
circumstances. her ensure our safety or bring about po

You u_ndli need to make a decision that we are going
self-discipline and establishing boundaries d
things we can do. A life without discipline is one that’

inl- - filled with c: THESS.
We can think it's kind of live life on s filled with carelessness

to get our lives in order. Exercising
and borders in our lives are some of the mo.

the edge. We like the image of “Yeah! that's me! L
edge! Woo-hoo!™ It's become 2 popular way to look at life. But if you see, even highway:

which provide margins for our safety while we're
ditch. If we cross aver the line in the middle, we co
help 1o keep us safe. Sometimes we don’t even reql
25. The phrase “Potentially harmful circumstances” re
4A) Be possibly dangerous '
(C) Seldom be dangerous
26. What does the author mean when he says,
(A) To resume our lives
(C) To rebuild our lives
27. Synonym of the word ‘carelessness’ is -
~ (A) caution :
(C) heedfulness
28. Choose the correct option —
He said, "My wife leaves for Vienna tomorrow”. (Change into indirect speech)
(A} He said that his wife have to leave for Vienna the next day.d,
(B) He said that his wife had to leave for Vienna tomormow g
(C) He said that his wife would leave for Vienna the next dﬂ:r'.“-c"'r
(D) He said that his wife has to leave for Vienna mmnrmwn\/

ize how lines help to keep us safe.
fers.to circumstances that ean -
Certainly be dangerous
(D) Be fairly dangerous
“To get DEF lives in order™?
“AB) To organize our lives
(D) To control our lives

(B) vigilance
laxness

driving. If we go over one side, we'll
uld get killed. And we like those lines b

24, Int sentence — “[{.Ei“dﬂﬂ is ﬂE Shﬂk:EFﬂm of ["d'iﬂ_". - the definite article ‘the’ is used becs

‘Shakespeare’ is an adjective. o
(B) “Shakespeare’ is a proper noun used as a comparative.
(C) “Shakespeare’ is a singular noun used to make gencral statement.
(D) ‘Shakespeare’ is a pronoun. : .
30. Which set of words fits well into the given sentence!

. ime inst i,
He pretended 10 fall ..................... my plan but secretly he was working dgainst |

B) in with
(A) off through o e
(€} into by pcf o .
31. The correct form of words in the brackets are = . ous (camp) out.
We suggested (sleep) in hotels but the children w:m] sleep, To a::lm; ”
(A) that we sleep, camped - T (D) for sleep, abow!

(C) sleeping, 1o camp .
32. What is the correct sequence ﬂf_l'-'h"ﬂr take (R)/ on the table (3)
this document (P)/ as proof of his guilt (B) RSPQ
jal comes ¢
(C) PSROQ

33. Choose the appropriate altemnative fro
he sentence- o
!'Ynu must be back within I:wahhﬁl.}l{ri-” P,
(A} You have the option Lo be bac

: -k within 1w
ou are obliged to be bac n two hours-

: ithi
(C) You have to '“tgﬁkhjzk within 1wo hfﬂ“_‘____———*—_'__ﬁ—_ﬁ_

likel R :
(0) Yousre 7 page 5 of 32
123 - @

ses —
() can we

ions
m the given options

losest to the idea conve:









